):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK KKKXKKKXME6/1-6400504-00001XX

I

Limit03 for No.9012
i P
~ - Vv
x+2
J=1lim ¥ -2xX-2x+2 2=1lim (3 -1)(x**=2) .3=lim S
x—3 X2 x4 3x+x-3 LLS 1]
. 49-x CoAlx—1-4 _ &
4= lim [ b= lim T 6=1m 43 -x M
X -7 X - X X
NoOl = — 49 — 17 —>32 , ’ a
) ) 3—x ) |x +2x—8|
.7 = lim |x—2| S=Ilim Y=Ilm ———— !
x—>1 x—3 —3+X| X —2- x—2 h
) 2 ) 15x°—x—2 @
0= lim ——-77 Al= lim —F——(—— Math@MUT M
L x>0+ X |x| x—>(2/5) |5X—2| i
U
L L 74y
_ 2|x| 0 -
fx)=1 x YU a(x)=2x+5
2 x=0
No02=|{{.3.1=lim f(x)+g(x) .32=lim f(x)-g(x) .3.3= lim f(x)g(x)
x—0- x— 0+ X — 0+
. fx) :
3.4 = lim 3.5=1im g(x)—1f(x) Math@MUT
L x — 0- g(X) x—0 i

f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = X —>4- X —> 4+ x—4
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x> (-4.3)- x> (43t x> (-43)

X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKXKXXXXKKKKKKKKK XXX KKK KKK KKK KKK KKK KKK KKK KKK KK KKKKK




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKXKKKXME6/1-6400504-00002XX

Limit03 for No.9016
C T
~ _ V
, ) , s . 4xX -2x-3 S
A =1lim 5x 2=1lm 2x -4x"+2x)(5x-2) 3=1lm — S
x—2 x—>1 x—4 3x" -3 - -
4= fim =30 5= fim 2! 6= li 2 T
4= lim S=1lm —F7—— 6=1im 4/x — M
NoOl = x—>36 A/ x —6 x>27 Afx—-2-5 x> 1 p
. o x=2 . x—2 ’ ’
7= lim |x+2| 8=1lim 7—— 9= lim 7 t
x> (-3) x—o2 | X~ | xa%|x-—3x+2| h
| ! | [5x-4] @
A0=lim —+77 A= lim 5 Math@MUT
e PY (45 2027 =31 x+ 12 ] M
U
L LLT1]
(=1 x 7% ex)=4x-2
1 x=0
No02=|{1.3.1= lim f(x)+g(x) .3.2= lim f(x)-g(x) .3.3=lim f(x)g(x)
x— 0+ x— 0+ x —0-
. f(x) :
3.4 = lim 3.5=1im f(x)g(x) Math@MUT
L x—0- g(X) x—0 i
f(x) = floor(x)
A= lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = X —>4- X —> 4+ x—4
flx) 5= lm f(x) .6= lim f(x)

X [Page = 0002]

4= 1lim

x—(-4.2)+

x > (-4.2)- x> (-42)
D010:0:010.0.0.0.0.0.0.0.0.0.0.0.0:0.0:0:0:0.0:0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0. 000 0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0




):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXXXKXXXKXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX XXX KKK XXX KXXXXXXKXXME/1-6400504-00003XX
Limit03 for No.9018

C Tl ]
-~ V
. 2 . 2 2 . 3x-3 S
J=1m 2x"+4x+1 2=1lm 3x -4x+4)(5x +x-2) 3=Ilm —
x—3 x—2 yo2 4x —-2x-1 __S__
8 —4/x Jx-2-3 &
4= lim [ S=Ilm ——— O=1im 4/1—-x M
X - X X - X X
NoO] = — 64 — 11 -1 ’ , a
| |x-2] | x4
7= lim |—3+x| .8=lim 9=Ilm t
x> (-2) xs2 2-X x> 4+ |x —2x—8| h
, 2 , 15x" +14x -8 @
A0=lim —+77 A= lim Math@MUT
L x—>0- X |x| x—>(2/5) |5X—2| i M
U
L L7414
_ 4 . -
T #
fo=1]x] 7 . e(x)=2x-3
4 x=0
No02=|{{.3.1= lim f(x)+g(x) .3.2= lim f(x)-g(x) .3.3=lim f(x)g(x)
x— 0+ x— 0+ x —0-
- f(x) :
3.4 = lim 3.5=1im f(x)+g(x) Math@MUT
L x—0- g(X) x—0 i

f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)

No03 = x— 3- x— 3+ x—3
4= lim fx) 5= lim f(x) .6= lim f(x)
x> (-3.6)- x> (3.6)+ x> (3.6)

X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKKKKKXKXXXXKKKKKKK KKK XXX KKK KKK XKL KKK E KKK KKK KKK KKKKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKXKKKXME6/1-6400504-00004XX

X [Page

Limit03 for No.9036
P
_ V
. 2 . 3 2 . 2x-1 S
d=1lm 3x"-2 2=1lm (3x -3x"—-1)(4x+2) .3=Im 5
X2 xo 1 x4 Sx+x —2x LS 1]
. 49—x o o4x=2-1 _ &
4= lim [ S =lim T 6=1m 43 -x M
x -7 X - X X
NoO] = — 49 -3 -1 ) ’ , a
| _|x-2] [y -4
7= lim |x—1| 8= lim 9=Ilim —— 4
x> (-1) 2 X2 vos2e X—2 h
) 3 3 ) 3x"+5x-2 @
A0=1im —+77 Al=lim Math@MUT M
L x—>0- X |x| x—(1/3) |3X—1| i
U
L LL 7
i 2x 0
T #
fo)=1]x] 7. e(x)=4x-5
2 x=0
No02=|{{.3.1= lim f(x)+g(x) .3.2= lim f(x)-g(x) .3.3=lim f(x)g(x)
x— 0+ x— 0+ x—0-
. f(x) .
3.4 = lim 3.5=1im f(x)+g(x) Math@MUT
L x—0- g(X) x—0 i
f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x—2- x— 2+ x—2
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x—(-5.7)- x—(-5.7)+ x—(-5.7)
SR LRI 66'0.0:0:0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0:0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400504-00005XX

Limit03 for No.9037

1
I

P
~ ~ V
) 3 2 . 3 2 ) 2x-2 S
d=1lm 5x"-x"+4x—-4 2=1lm (x +3x -3x)(4x-3) 3= 1lim
xX—2 x—3 x—3 3x-3 LLS 1
16 —x x—=5 &
4= lim S=1lm ——— 6=1im 4/x-1 INYal
xo16 4—4/x x5 AJx—4 -1 x> 1
No0l = R , a
] ) 2—x ] x—4
7= lim |x—1| S=Ilm 7T/ 9=lm — t
x> (-3) x—>2 X—2| x> 4+ |x —9x+20| h
4 4 . 6xX+5x-4 @
A0=1m —+77 Al= lim ———7— Math@MUT
L x—>0- X |x| x—(1/2) |2X—1| i M
U
L LL7TJ1
fx)=x—4gx)={ r 70
1 x=0
No02=|{{.3.1=lim f(x)+g(x) .32=lim f(x)-g(x) .3.3= lim f(x)g(x)
x—0- x— 0+ X — 0+
f(x X
= lim 2 3.5 lim 22 Math@MUT
i x>0 8(x) x>0 f(x) |
f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = X —>4- X —> 4+ x—4
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x—(-5.6)- x—(-5.6)+ x—(-5.6)

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKKKKKXXXXKKKKKKKKKK XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

X Math@MUT XXXXXXXXXXXXXKXKXKXKXKXKXXKXKXKXKXKXKKKKKKXKX KX KX KK KKKK KKK KX KX KX KK KKKK KKK KX KX KX KKKKKME /1-6400504-00006XX
Limit03 for No.9138
C AT
-~ ~ 14
. 2 . ) . X —4x -2x S
d=1lm 5x"-2x+1 2=1lm (3x"+4x—-4)(5x-2) .3=1Ilim N
x—2 x—2 x4 x+2 LL o 1
9—x x—10 &
4= lim 5= lim 6=1im 4/ x-2 IBYal
x>9 4x =3 x—>10 /x—1-3 x—>2
NoOl = B 5 a
. . -3 +x . x—4
.7:hm|x+ﬂ .8=lim 9= lim — 4
X2 x—3 —3+x| x%¢|x +x—20| h
. 4 . 3x—4] @
A0= lim T—F-— 1= lim 5 Math@MUT
L m»m|x| X x> 4/3) 15x =26x+8 ] M
U
L LL 71
_ 4|x| O -
fx)=2x-1,gx)={ x
4 x=0
No02=|{1.3.1=lim f(x)+g(x) .3.2=lim f(x)—-g(x) .3.3=1lim f(x)g(x)
x—0- x— 0+ x—0-
. fx) :
3.4 = lim 3.5 =1im f(x)+g(x) Math@MUT
L x— 0+ g(X) x—>0 |
f(x) = ceil(x)
A= lim f(x) 2= 1lim f(x) J3=1im f(x)
x— 2+ x—2
lim f(x)

N003 = X — 2-
4= lim f(x) 5= Ilm f(x) .6=
x> (-29) x> (2.9)+ x> (-2.9)
O0/0:0:0:0:0:0:010:010.0:0.0:0.0.0.0.0.0.0:0.0:0:0:0:0.:0.0.0.0'0:0.0:0.0.:0.0.:0.0.:0.0.0.0.0.0.0.0.0.0.0.:0:0.0.0.0.0.0.0:0:0.0:0.0.0.00.0.0.0.0.0:0.0'0.0:0:0.0:0.0.0.0.0.0.0.0:0:0.0:0'0:0.0:0. 0.0

X [Page = 0006]




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKXKKKXME6/1-6400504-00007XX

Limit03 for No.9602
C Tl ]
_ _ 14
2
] 3 ) 5 X =2x S
d=1lm 5x+1 2=1lm (4x—-1)(2x" —2x) 3= 1lim
x—3 x—1 x—>4 3x-1 __S__
. 4-x . 43+x-4 , &
4 = lim [ S = lim T b6=1lim 4/x—-2 M
X - X -X X
NoO] — >4 2 X —>19 —>12 ’ , 4
] ] x—1 ] |x —2x—15| /
7= lim |x+3| S=Ilm 7 9= lim
x> (2) x> 1 |X—1| x—>5- x=35 h
_ 4 ' 18x°=3x-10 @
A0=1lm —-77 .Il= lim Math@MUT M
L x—>0- X |x| x> (5/6) |6x—5| i
U
L LLT1]
fo)=2x+5gx)=1]x] **°
1 x=0
No02=|{{.3.1=lim f(x)+g(x) .32=lim f(x)—-g(x) .3.3= lim f(x)g(x)
x—0- x— 0+ X — 0+
f(x X
= lim 2 3.5 lim 22 Math@MUT
i x>0 8(x) xo f(x) |
f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x—1- x— 1+ x—1
4= lim f(x) S5= Ilm f(x) .6= lim f(x)

x—(-3.9)- x—(-3.9)+ x—(-3.9)
):0:9:9:9:9:9:9:9:9.9:9.9:9.9:9.9:9.9:9.9:9.9:9.0:9.9:0:0:0.0:9:9:9:9:9:9.9:9.9:0.9:0.0:0.0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:0.0:9:0:9:0:9:0.9:0.9:0.9:9.0:0.0:9.0:9.0:9.0:9.0:9.0.:0.0:0.0:0.9:9:9:0:0.0:0.¢

X [Page = 0007]




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKXKKKXME6/1-6400504-00008XX

X [Page = 0008]

x> (-3.8)-

Limit03 for No.9616
C AT
_ _ V
_ R , ) 2 o 3xM+2x S
d=1lm 4x -1 2=1lm (3x"+2x+2) S=1lm ——
X2 xo2 x4 x +1 LLS ]
/ &
36 —x I —-4/x+5 e
4= lim S=lim —— O6=1im 4/3—-x M
NoOl = x—>36 6—4/x x = (-4) x+4 x—2 a
) ) 3—x ) x=5 | ’
.7 =lim |x—1| 8= lim 9= lim — !
X2 x3 |73 +x| x5+ |x —25| h
_ 4 . [5x-4] @
A0=1lm —+77 .Il= lim 3 Math@MUT
L x>0+ X |x| xo4/5) 10x"—=3x—-4 i M
U
LLT ]
_ 3|x| 0 _
fx)=5x+4,gx)={ x 7
3 x=0
No02=|{1.3.1=lim f(x)+g(x) .3.2=lim f(x)—-g(x) .3.3=1lim f(x)g(x)
x—0- x— 0+ x—0-
. fx) :
3.4 = lim 3.5 =1im f(x) g(x) Math@MUT
L x— 0+ g(x) X0 |
f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x— 3- x— 3+ x—3
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x—(-3.8)+ x—(-3.8)

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0.:0.0:0:¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK L KKK KKK KKK KKK KKK KKK KKKXKKKME6/1-6400504-00009XX

Limit03 for No.10152

P

- _ V

) 3 5 ] 5 ] S5y —4x—4 S

d=1lm x+3x"+2x 2=Ilm (2x" -2)(x+4) 3=lm ————
x—3 x—2 x—4 x+3 LLS 1]

4o lim S lim ——2 6=1lim /1 T

4= lim S=1lm —F— .6 =1lim —-X M
NoO] - x>81 A/x -9 xo15 4—4/x+1 xﬁ32 , ’ g

| [x—1] [P 43

7= Mn|x—2| .8=lim 9=Ilm — !
x—(-2) rs1 L=x x> 1+ x—1 h
3 3 _ |5x—4| @

A0=lim —+77 A= lim ————— Math@MUT
L x>0+ X |x| x>(4/5) SxT+6x—38 ) M
U
L LL T
_ 2|x| 0 _
fx)=3x—4,gx)=1 x
2 x=0
No02=|1.31= lim f(x)+g(x) .3.2=1lim f(x)—g(x) .3.3=1lim f(x)g(x)
x— 0+ x—0- x—0-
. f(x) .
3.4 = lim 3.5=1im f(x)g(x) Math@MUT
L x— 0+ g(x) X0 |
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x—2- x— 2+ x—2
flx) 5= lm f(x) .6= lim f(x)
x> (-44)

X

[Page

4= 1lim

x— (-4.4)+

0009]

x > (-4.4)-
D010:0:010.0.0.0.0.0.0.0.0.0.0.0.0:0.0:0:0:0.0:0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0. 000 0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK K KKK KKK KKK XKL KKK KKK KKK KKKKKKKXME6/1-6400504-00010XX
Limit03 for No.11738

C AT

~ V
. 3 . 2 2 . 3x-3 S

J=1m 2x +4x+3 2=1lim (5x+3x-1)(4x"+3x+3) 3=Ilm —

x—1 x—>1 x4 4x" -3 x+1 LLS 1]
 16-x C 4fx-2-5 , &
4= lim S=1lm ——— bH=1lim 4/1—-x M
NoO] = x>16 4—4/x xo21 2T—x x> 1 4
B ) ox—1 ) x—2 ’ ’

7= lim |x+3| S=1lim T—7 9=1lm t
x> (-2) x> 1 |X—1| x> 2- |x —6x+8| h
3 3 , 12x*=25x+12 @
A0=1lim ——77 A1l=lim Math@MUT M

L x>0+ X |X| x—>(4/3) |3X—4| J
U

L LL7T1]
_ 3|x| . -
fx)=3x-5gx)={ x
3 x=0
No02=|{{.3.1= lim f(x)+g(x) .3.2=1lim f(x)-g(x) .3.3= lim f(x)g(x)
x — 0+ x—0- x— 0+
. f(x) :
3.4 = lim 3.5=1im f(x)-g(x) Math@MUT
L x—0- g(X) x—0 i

f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)

No03 = x— 3- x— 3+ x—3
4= lim fx) 5= lim f(x) .6= lim f(x)
¥ o> (-49)- x> (-49)F x> (-4.9)

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXXXXXKKKKKKKK XXX KKK KKK KKK KKK KKK KKK KKK KKK KKKKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400504-00011XX

X [Page = 0011]

4=

lim f(x) 5=
x—(-5.1)+

x—(-5.1)

Limit03 for No.11754
P
_ _ V
. 2 . 2 . 2X2'_x S
d=1lm 2x"-3x 2=1lm (3x -x-4)(2x-1) 3= lim
x—2 x—2 x—>4 2x-4 ——S——
o 10-4/x o 34x-4 , &
4= 1m ————— S=1lm ——— 6=1m 42 —x M
100 100—x x—19 x—19 x—1
NoOl = 2 5 ) a
, Cox-1 P —x—12] .
7= lim |—3+x| 8= lim Y=Ilm ———
x—(-1) x—1 |x_1| x> 4+ x—4 h
, 3 , |5x 2] @
A0=1lm —+77 .Il= lim 5 Math@MUT
L x>0+ X |x| x>2/5) 10x"+11x—-6 A M
U
L T ]
' s,
fx)=2x-5g0(x)=1 x
5 x=0
No02=|{1.3.1=lim f(x)+g(x) .3.2=lim f(x)-g(x) .33= lim f(x)g(x)
x—0- x— 0- x — 0+
. fx) :
3.4 = lim 3.5=1im g(x)—1f(x) Math@MUT
L x— 0+ g(X) x—>0 |
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = X —>4- X —> 4+ x—4
lim f(x) .6= lim f(x)

x—(-5.1)-
):0:0:9:0:0:9:0:9:9:9:9:0:9:9:0:9:9:9:9:9:0:9:9:0:0:0:0.0:0:9:9:9:0:0:9:0.9.9:0.0:0:9.9.0:9:9.9.:0:9.9:0:0:0:9:0:9:0:0.9:9.0.9:0:9.9:9:0.0.0:0.0:0:0.9:0.0.9:0.0.0:9:0.0.:0:9.0.:9:0.0:0:0.9:0:0.0.:0:0.0:¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKKKKKXME6/1-6400504-00012XX

X

Limit03 for No.11841
P
_ V
. 3 . ) 5 ) 3x+1 S
d=1lm 5x+x+3 2=1lm (5x" +3x-2)(x"-2x+2) .3=Ilim 3 5
x—>1 x—1 x4 2X+2x +3 LLS 1]
. 9-x . Ax-2-4 , &
4= lim [ S = lim T 6=1im 4/x—-2 M
X - X —-X X
NoO] = -9 AJx =3 - 18 -2 , ’ u
. . |x—1| . x-=5
7= lim |—3+x| 8= lim 9= lim t
x> (-3) o1 X1 x5 |x —6x+5| h
, 4 . 3x +2x-8 @
A0=lim 7—7-— Al=lim Math@MUT M
L x—> 0+ |X| X x—(4/3) |3X—4| J
U
L LL T
_ 5|x| . -
=1 x 7 ex)=x-2
5 x=0
No02=|{1.3.1=lim f(x)+g(x) .3.2=lim f(x)-g(x) .33= lim f(x)g(x)
x—0- x— 0- x — 0+
. f(x) :
3.4= lim 3.5=1im f(x)+g(x) Math@MUT
L x— 0+ g(x x—0 |
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = X —>4- X —> 4+ x—4
4= lm flx) S= Ilm f(x) .6= lim f(x)
x—(-1.1)- x—(-1.1)+ x—(-1.1)
[Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXXKXKKXX KX KX KKK KX XX XXX KX KX KX XXX KX KX KKK KX KX KKK KX KX KKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KX KK KKK KKK KKK XKKXKKKXME6/1-6400504-00013XX

Limit03 for No.11842

FpT] T
- _ 14
. 3 2 . 3 2 . 4x-3 S
d=1lm 2x —4x"-2x-2 2=1Ilm (4x+4)(2x —4x " +3x) .3=lim
x—2 x—>3 x—2 x+1 __S__
4= tim 2% 5~ lim ——— 6= lim /2 .
4= lim S=lim 77— .6=lim -x 17
NoO] x—49 «/;—7 x>8 Yx—4 -2 x> 1 M
ovi= _ _ |x—2| _ |x2+2x—15|’ ’ ¢
7= lim |—3+x| 8= lim 9= lim t
x> (-2) 2 2-X x—3- —3+x h
4 4 _ 10x*—13x-3 @
A0=lim —+77 1= lim Math@MUT
L x>0+ X |x| x—>(3/2) |2x—3| _ M
U
L LLT1]
_ 4|x| . -
f)=1 x 7" gx)=x+5
4 x=0
No02=|{{.3.1= lim f(x)+g(x) .3.2=1lim f(x)-g(x) .3.3= lim f(x)g(x)
x— 0+ x—0- x— 0+
. f(x) . f(x)
3.4 = lim 3.5 =lim Math@MUT
L x—0- g(x x>0 g(X) |

f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)

No03 = x— 3- x— 3+ x—3
4= lim fx) 5= lim f(x) .6= lim f(x)
x—(-1.9)- x—(-1.9)+ x—(-1.9)

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXKXKKXXXKKXKKKKKK XXX XXX KKK KKK KKK LKL LK KKK KKK KK KKK KKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKXKKKME6/1-6400504-00014XX

X [Page = 0014]

4=

x > (-4.3)-
D010:0:010.0.0.0.0.0.0.0.0.0.0.0.0:0.0:0:0:0.0:0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0. 000 0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0

x> (-43)+ x> (-43)

Limit03 for No.11901
P
~ _ V
. 2 . 3 2 . x—2 S
d=1lm 2x"+x 2=1lm (5x+1)(2x —x"—x) .3=Iim 3 5
¥ 1 x—3 xo2 4x +4x —3x LS 1]
x—100 x—4 &
4= 1m —F—— S=lm ——— 6=1m 4/2—-x T a1
x—>100 4/ x — 10 x4 A-3+x -1 X2
NOO] = 5 5 a
) ] x—1 ) -3 +x
7= lim L3+x| .8=lim 9= lim — t
x—(3) xo>1 [ X~ m»w|x —7x+12| A
, , 8x —14x—15 @
A0=lim 77— A= lim Math@MUT
L xem|x| X x—(5/2) |2X—5| J M
U
L LLT7TJ] |
_ N 0 _
T *
flx)=4x-2,g(x)=1[x] 7~
1 x=0
No02=|1.31= lim f(x)+g(x) .3.2=1lim f(x)—-g(x) .3.3=1lim f(x)g(x)
x— 0+ x—0- x—0-
. f(x) . f(x)
3.4= lim 3.5 =lim Math@MUT
L x— 0+ g(X) x—0 g(x ||
f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x—2- x— 2+ x—2
lim f(x) 5= Ilm f(x) .6= lim f(x)



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKXKKKXME6/1-6400504-00015XX
Limit03 for No.11947

C AT

~ _ Vv
. 3 . ; ) . 5x°—x S

d=1lm 3x -2x-3 2=1lm (2x+3)(3x -3x") 3= lim N
x—3 x—3 x—>2 x+2 —_&‘

64 —x -4 —x

4= lim S=lim ——F—— 6=1m 43 —x T M

NoO] = x—>64 A/x —8 xo(4) 1—4x+5 x—3 p

. _ 1—x _ x—5 ’ ’

7= lim h—1| S=1lim T—7 9= lim — 4

x> (-3) xal|x_1| x%5|x —7x+10| h

. 5 . [4x-3] @

A0=1lm —+77 A= lim —— Math@MUT

L x—>0- X |x| x>(3/4) 12X —=x—-6 ] M

U
LT ]

_ 5 O -
T #
o =1]x] 7 ax)=2x-4
2 x=0
No02=|1.31= lim f(x)+g(x) .3.2=1lim f(x)—g(x) .3.3=1lim f(x)g(x)
x— 0+ x—0- x—0-
. f(x) :
3.4 = lim 3.5=1im f(x)+g(x) Math@MUT
L x— 0+ g(x) X0 |
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x— 3- x— 3+ x—3
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x—(-2.3)- x—(-2.3)+
X [Page = 0015]

x> (2.3)
000.0:0:0.0.0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.00.0.0.4




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXX XXX XXX KKK KKK KKK KKK K KKK KKK KKK XKL KKK KKK KKK KKKKKKKXME6/1-6400504-0001 6XX

Limit03 for No.11989

X [Page = 0016]

lim
x—(-5.5)-

4=

x—=(-5.5)+
):0:0:9:0:0:9:0:9:9:9:9:0:9:9:0:9:9:9:9:9:0:9:9:0:0:0:0.0:0:9:9:9:0:0:9:0.9.9:0.0:0:9.9.0:9:9.9.:0:9.9:0:0:0:9:0:9:0:0.9:9.0.9:0:9.9:9:0.0.0:0.0:0:0.9:0.0.9:0.0.0:9:0.0.:0:9.0.:9:0.0:0:0.9:0:0.0.:0:0.0:¢

I . 3 2 . 3 2 . 5¢-2 |
d=1lm 2x -3x" -1 2=Ilm (x—-1)(2x -2x" -4x) 3=lm ————
X2 x> 1 xo3 X —2x—-4
8- qx _ x+4 _
4= lim S=lim ——F—— O=1im 4/x-2
NoOJ = 64 04—x x> (4) 1—4x+5 x> 1
] ) 3—x ) -3 +x ’
.7=lim |x+1| .8 =lim 9=lim
X2 yo3 |73 +x| X3 |x —7x+12|
. ) |3x—1|
A0=lim 77— Al= lim 5 Math@MUT
L x = 0+ |x| X x> (1/3) 15x"+7x—-4 i
| 2x .
fr)=3x+2,g0)=1]x] 7
2 x=0
No02=|{1.31= lim f(x)+g(x) .3.2=1lim f(x)—g(x) .3.3=1lim f(x)g(x)
x— 0+ x—0- x—0-
. f(x) :
3.4= lim 3.5=1im f(x)g(x) Math@MUT
L x— 0+ g(X) x—>0
f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = X —>4- X —> 4+ x—4
flx) 5= lm f(x) .6= lim f(x)

x—(-5.5)

1
I

[
[
L
L

1
1
1
1

NPT~ TR




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KX KK KKK KKK KKK XKKXKKKXME6/1-6400504-00017XX

Limit03 for No.11996

CpT1 T
~ ~ V
. 2 . 3 2 . x+1 S
d=1lm 2x"+2x+4 2=1lm (4x +3x -2x)(4x-3) 3= lim
x—2 x—1 x—4 2x-3 ——S——
C 8l-x  4-4x+5 _ &
4= lim S=Ilim —/— — 6=1im 4/1—-x M
NoO] = x—>81 9—4/x x> 11 1l -x x> 1 g
, . |x—2| . x—4 ’ ’
7= lim |x+2| 8= lim 9= lim 4
X3 x>2 27X x4 |x —9x+20| h
4 4 . [3x 4] @
A0= lim —+77 A= lim 5 Math@MUT
L x>0+ X |x| x>4/3) 15x" =29 x+12 i M
U
L LL7T1]
_ 5|x| . -
flx)=1 x Y o(x)=x4+2
5 x=0
No02=|{{.3.1=lim f(x)+g(x) .32=lim f(x)-g(x) .3.3= lim f(x)g(x)
x—0- x— 0+ x— 0+
. f(x) :
3.4 = lim 3.5=1im f(x)g(x) Math@MUT
L x — 0- g(X) x—0 i
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x— 3- x— 3+ x—3
4= lim f(x) S5= Ilm f(x) .6= lim f(x)

x—(-1.3)- x—(-1.3)+ x—>(-13)

X [Page = 0017] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKKKXXKXXXXKKKKKKK KKK XXX KKK KKK LKL LK LK KKK KKK KK KKKKK



1
I

):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXX XXX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK KKKKKKKXME6/1-6400504-00018XX

Limit03 for No.12889
P
~ _ V
. 3, 2 . 2 2 . 3x+1 S
d=1lm 2x +x"+4 2=1lm (X —x+4)(2x" +x+2) .3=1lim 3
xo1 xo 1 xo>1 2x —3x-2 LL S ]
x—1 3-afx+1 &
.4 =1lim S=lm ————— .6=1m 43 —x M
NoOl = xo1 afx —1 x—>8 x—38 xo1 p
i ) x—1 ] x—4 ’ ’
7=1lim |x-2| 8=1lim 77— 9= lim 4
X2 x> 1 |X—1| x> 4- |x +x—20| h
11 , |6x—5] @
A0=1im —+77 Al=lim 5 Math@MUT
IR Y o (576) 18%°—39x 420 | M
U
L LL7T1]
fx)=x-5g0x)={ x 70
1 x=0
No02=|{1.3.1=lim f(x)+g(x) .3.2=lim f(x)-g(x) .33= lim f(x)g(x)
x—0- x— 0- x — 0+
. f(x) . f(x)
3.4= lim 3.5 =lim Math@MUT
Ll x— 0+ g(X) x—0 g(X) |
f(x) = ceil(x)
A= lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x—2- x— 2+ x—2
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x—(-5.6)- x—(-5.6)+ x—(-5.6)
ERL NP 6°0:0.0/0:0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0:0.0.0:0¢

X [Page =




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKKKKKXME6/1-6400504-00019XX

X [Page = 0019]

x—(-54)- x—(-54)+

I

1

I
L
L

1
1

Limit03 for No.12890
i ) 3 ] N ] 5x2-3x ]
d=1lm 3x —4x—-1 2=1lm (5x+1)(2x" —4x+4) 3= 1lim
x—2 x—>1 x—2 4x-3
4 —4/x x—14
4= lim [ 5= lim 6=1im 4 x—1
rol6 16—x xo>14 4—4/x+2 X2
No0l = ) , ,
, o ox-2 ¥ +2x-3)
7= lim |x+1| S=lm —/ 9=1lm ———
x—(-2) x—>2 [ X~ | x> 1- x—1
_ 2 _ 5x+13x-6
A0=lm —-77 Al=lim Math@MUT
L x—>0- X |x| x> (2/5) |5x—2| i
_ 3. . -
T #
fo=1]x] 7 . e(x)=2x-3
3 x=0
No02=|{1.3.1=lim f(x)+g(x) .3.2=lim f(x)—g(x) .33= lim f(x)g(x)
x—0- x— 0- x — 0+
. fx) :
3.4 = lim 3.5=1im f(x)-g(x) Math@MUT
L x— 0+ g(x) X0 |
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x— 3- x— 3+ x—3
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x> (-54)

NPT~ TR

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0.:0.0:0:¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK KKKKKKKXME6/1-6400504-00020XX

X

Limit03 for No.12891

P
~ V
. 3 2 . 2 . 4x-3 S
d=1lm 5x -2x"+4x-2 2=1lm (4x-2)3x" —x—-3) .3=Ilim 3 5
X3 X3 xs2 4x —2x"+3x LLS 1]
64 —x x—4-1 &
4= lim 5= lim 6=1lim 4/x—1 InYal
xo>64 8—4/x x5 5-x x> 1
NoOl = ) , a
) ) |x—l| ) |x —4x—5| /
7= lim |x—2| 8= lim 9=1lm ————
x> (3) xosl X x5+ x=35 h
| 2 | [4x-3] @
A0=lim 7—7-— Al=lim 5 Math@MUT
L x—0- |x| X x—(3/4) 20x"—=23x+6 i M
U
L LL7T1]
_ N O -
T *
fx)=x+3,g0)=1]x]
1 x=0
No02=|{1.3.1= lim f(x)+g(x) .3.2=1lim f(x)-g(x) .3.3= lim f(x)g(x)
x— 0+ x—0- x— 0+
. f(x) :
3.4 = lim 3.5 =1im f(x)+g(x) Math@MUT
L x—0- g(X) x—0 i
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x—1- x— 1+ x—1
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x> (-1.4)- x> (-LA) x> (-14)
REET R PX NI 0:0:0:0.0:0.0.0.0:0.0.0.0.0.0.0.0.0:0:0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0:0.0.0:0.0:0.0.0.0.0.0.0:0.0.0.0.0.0.0.0:0.0.0.0.0.0:0.0.0.0.0.0.0.0:0:0.0:0.0.0¢




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKKKKKXME6/1-6400504-00021XX

Limit03 for No.12917

X [Page

I

P
_ _ V
. 5 . 3 ) . 3x+1 S
d=1lm 2x"+x—-4 2=1lm (3x+2)(3x —-4x" —-2x) S3=1lim —
x> 1 x—>2 x>3 2x =3 LLS ]
| —x 2—yx+1 &
.4 = lim 5=lim3— 6=1m 4/ x—-2 M
X — X - X X
NoOJ = >1 4x —1 -3 1 ’ p
) |x—2| ) -3 +x
7= lim |x+2| .8 = lim 9= lim 4
x> (-2) 2 X—2 x—>3- |x —x—6| h
| : | [5x-3] @
A0=lim 77-— Al=lim 5 Math@MUT
L x = 0+ |x| X x(3/5 20x " —=37x+15 | M
U
L LL T
- ol
flx)=1 x YU o(x)=x+4
2 x=0
No02=|{1.3.1= lim f(x)+g(x) .3.2= lim f(x)-g(x) .3.3=lim f(x)g(x)
x— 0+ x— 0+ x—0-
. f(x) :
3.4 = lim 3.5=1im g(x)-f(x) Math@MUT
L x—0- g(x x—>0 |
f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x—1- x— 1+ x—>1
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x—(-5.6)- x—(-5.6)+ x—(-5.6)
E AR IID6'0:0:0/0:0.00:0.010:0.010:0.0:0:0.0.:0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0:0.0.0:0.0.0.0.0.0.0.0.0.0.0.0:0.0.0:0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0:0.0.0:0.0.:0:0.0:¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKKKKKXME6/1-6400504-00022XX
Limit03 for No.13099

P
- _ V
] 3 a ) 5 ] 4x°-3x S
d=1lm 2x —x"+x+2 2=Ilm (2x+2)(3x"—1) d=lim ———
x—2 x—2 x—3 x-2 LLS 1]
4= lim —— 5= lim 6= lim /-3 T
A4=1lm —— S=1lm —/——— O6=1im 4/ -3 +x M
NoOI — x59 3—4/x x—>18 Afx—2 -4 x>3 4
a . . 3+x . x—4 ’ ’
.7=1lim |x+1| S=1lim 7T/ 9=1lim 3 !
X3 xo3 |73 +x| x> 4+ |x +x—20| h
.5 5 C 30X =37x+10 @
A0=lim —+77 A= lim Math@MUT
L x—>0- X |x| x—>(5/6) |6X—5| 4 M
U
L LT ]
_ 5 0 _
T #
flx)=x+2,gx)=1[x]
2 x=0
No02=|{1.3.1=lim f(x)+g(x) .3.2=lim f(x)-g(x) .3.3=1lim f(x)g(x)
x—0- x— 0+ x—0-
. f(x) :
3.4 = lim 3.5 =1im f(x)+g(x) Math@MUT
L x— 0+ g(x) X0 |
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = X —>4- X —> 4+ x—4
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x—(-1.5)- x—(-1.5)+ x—(-1.5)
X [Page = 0022]

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0.:0.0:0:¢




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400504-00023XX
Limit03 for No.13100

C AT

~ 14
. 2 : 3 2 : 4x-1 S

J=1lm 3x-x+2 2=1lim 3x —-4x"+1)(5x-2) 3=Ilm —

x—3 x—2 2 2X +2x-3 LLS 1]
. 64-x . 2-4x+3 , &
4= lim S=lm —/ b6=1im 42 —x M
NoOJ = x> 64 «/7—8 x> 1 I —x x 3 4
. . |x—2| . |x2—1| ’ ’ {
.7 =lim |x—2| .8 =1lim 9=1lm ——
x—1 x—>2 x—=2 x—1- x—1 h
3 3 . [5x-2] @
A0=lim —7-— Al=lim 5 Math@MUT
L x—0- |x| X x> (2/5) 20x =13 x+2 i M
U
I N A
_ 4|x| 0 -
fx)=1 x YU a(x)=2x+5
4 x=0
No02=|{1.3.1= lim f(x)+g(x) .3.2=1lim f(x)-g(x) .3.3= lim f(x)g(x)
x— 0+ x—0- x— 0+
- f(x) :
3.4 = lim 3.5=1im f(x)-g(x) Math@MUT
L x—0- g(X) x—0 i

f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)

No03 = x—2- x— 2+ x—2
4= lim fx) 5= lim f(x) .6= lim f(x)
x> (-47)- x> (<4T7)+ x> (-4.7)

DG BT ISR IMICH 1D 19:9:0:0:0:0.0:0.0.9:0.0:0:0:0:0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0.0:0.0.0.9.0.0.0.0.:0.0.:0.0.0.9.0.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.0.0:0:0:0:9:9.9.9:0.0.0:0:9:9:9:9:9:9.9.9.9.9.9.9.9.9:9.9.9.9.9.9.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKX XXX KKK KKK KKK KKK KKK KKK KKK KX KK KKK KKK KKK XKKXKKKXME6/1-6400504-00024XX

Limit03 for No.13411

I 2x*-3

d=1im 5x*+2 2=1lm (3+x)(4x"=3x+1) 3= lim
xs2 x +1 L

[
L
L

NSO~ KRk

x—2 x—2

W/;_l ,5=1im£ O=1lim 4/x—1 |

.4=1lim
NoO] = x>l L—x x>6 Ayx—5-1 x—3 ’ ,
. EE . x=5
.7=lim |x+2| .8=lim 9=lim —
x—3 vl 1—x x5 |x —3x—10|
| 3 . [5x4
A0=1lm ——-7—7 .Il= lim 5 Math@MUT
L x>0+ X |X| x>(4/5 20x"—11x—-4 i
_ 4x O _
fy=d4x+5g00)=1]x] *7
4 x=0
No02=|{1.31= lim f(x)+g(x) .3.2=1lim f(x)—g(x) .3.3=1lim f(x)g(x)
x— 0+ x—0- x—0-
. 1) .
3.4= lim 3.5=1im g(x)-1f(x) Math@MUT
L x— 0+ g(X) x—0 ||

f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)

No03 = x—1- x— 1+ x—1
4= lim fx) 5= lim f(x) .6= lim f(x)
x—(-1.5)- x—(-1.5)+ x—(-1.5)

DG BT ISR IY Y 1D:19:9:0:0:0:0.0:0.0.9:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.0.0.0.0.0.0.:0.0.0.0.0.0.0.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9:0.0:0:0:0:9:9.9.9.0:0.0:0:0:0:9:9:9:9.9.9.9.9.9.0.9.9:9.9.9.9.9.9.0.4




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

Limit03 for No.646101

1
I

I
L

1
1

X [Page = 0025]

x> (-1.8)+

NCXE® T~ XU

R o , 28—
J=1lm 5x"+4x+2 2=Im (x+3)(x"+3x-1) 3=Ilm —
x—>3 x> 1 xo4 X +3x-2
] x—16 ] x—13 ]
4= lim S=lim 77— O=1im 4/x -2
NoOI — x— 16 «/7—4 x>13 Afx—4 -3 x—>3
| - Jx—1 P ex-el]
.7 =lim |x+2| 8= lim 9=Ilm — —
x—=3 x>1 X x—>2+ x=2
. 2 . [3x-2]
A0=lim —+77 1= lim 5 Math@MUT
L x>0+ X |x| x—>(2/3) 15x —22x+8 ]
2x 0
T e
flx)=-3+xgx)=1|x]
2 x=0
No02=|{1.3.71=lim f(x)+g(x) .3.2=lim f(x)—g(x) .33= lim f(x)g(x)
x—0- x— 0- x — 0+
. fx) :
3.4 = lim 3.5=1im f(x)g(x) Math@MUT
L x— 0+ g(x X0
f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x—5- x— 5+ x—5
4= lim f(x) S5= Ilm f(x) .6= lim f(x)

x—(-1.8)

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400504-00025XX

x—(-1.8)-
):0:0:9:0:0:9:0:9:9:9:9:0:9:9:0:9:9:9:9:9:0:9:9:0:0:0:0.0:0:9:9:9:0:0:9:0.9.9:0.0:0:9.9.0:9:9.9.:0:9.9:0:0:0:9:0:9:0:0.9:9.0.9:0:9.9:9:0.0.0:0.0:0:0.9:0.0.9:0.0.0:9:0.0.:0:9.0.:9:0.0:0:0.9:0:0.0.:0:0.0:¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX KKK KKK KKK KKK KKK KKK KKK KX KK KKK KKK KKK KKKKKKKME6/1-6400504-00026XX
Limit03 for No.646102

C AT
_ _ V
] 5 ) 2 ) 2 +4 S
d=1m 3x +2 2=1lm 2x +x)(2x-2) d=lm ——
x—1 x—1 x—1 x+4 LLS 1]
100 — x Jx-5-2 &
4= 1lm —F/——— S=lm —— 6=1im 4/ -3 +x M
NoO] = x—>100 4/ x —10 x—>9 x—-9 x—o3 4
] ] -3 +x ) |x2—8x+15|’ ’ {
7= lim |x+2| S=lm 77—/ 9= lim
x> (-2) o3 |3 +x| X3+ -3 +x h
3 3 , |5x—4] @
A0=1lm 7—7-—— .Il= Ilim 5 Math@MUT M
L x> 0- |x| X x>(4/5) 15x"—=22x+8 ]
U
L LT 1]
_ 2|x| 0 _
fx)=1 x YU g(x)=4x-3
2 x=0
No02=|{{.3.1=lim f(x)+g(x) .32=lim f(x)-g(x) .3.3= lim f(x)g(x)
x—0- x— 0+ x— 0+
. f(x) .
3.4 = lim 3.5=1im f(x)+g(x) Math@MUT
L x — 0- g(X) x—0 i

f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)

No03 = X —>4- X —> 4+ x—4
4= lim fx) 5= lim flx) .6= lim f(x)
x> (-29) x> (29)+ x> (-2.9)

X [Page = 0026] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKKKXXKXKKKKKKKK KKK XXX KKK KKK KKK XKL KL KKK KKK KKK KK KKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400504-00027XX

X [Page =

1

I

Limit03 for No.646103
P
~ V
: 3 2 : 3 2 : 4x+2 S
d=1lm x+4x+2x—-1 2=1lm (2x —-4x" -2)(5x—-2) .3=Ilm 3 5
x—1 x—2 o3 4x+2x +4x LLS ]
Y fx—4 -1 , &
4= lim S=lm —— 6=1m 43 —-x M
64 X— 04 x5 x=5 x—3
NoOl = ) X a
) ) |x—2| ] |x—3x+2|
.7 =lim |x—2| .8 =lim 9=Ilm — 4
x—3 x—2 2-x x— 1+ x—1 h
| | [2x-3] @
A0=lim 77— A1l=lim 5 Math@MUT
L x— 0+ |x| X x>(3/2) 8x —2x—-15 ] M
U
LL T ]
fx)=3x-1Lgx)=1 » *70
1 x=0
No02=|1.31= lim f(x)+g(x) .3.2=1lim f(x)—g(x) .3.3=1lim f(x)g(x)
x— 0+ x—0- x—0-
. f(x) :
3.4 = lim 3.5=1im g(x)-1f(x) Math@MUT
L x— 0+ g(X) x—>0 |
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x—2- x— 2+ x—2
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x> (32)- x> (32)+ x> (-32)
APRATIDG'0:0:00:0:00:0.0:0:0.0:0.0.0.0:0.0:0:0.0:0:0.0.0.0.0.0.0.0.0:0.0.0:0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.:0:0.0:0:0:0:¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKKKKKXME6/1-6400504-00028XX

Limit03 for No.646104
P
~ _ V
3 2
] 5 ) 5 5 o 4Ax+3x —-4x S
d=1m 5x 2=1lm (4x -4)(x*-3x+2) .3=Ilm
x—>2 xX—>2 x—>4 4x+1 LLS 1l
49 — x 1—y/x+2 &
4= lim 5= lm ———— 6=1im 4/x-1 M
NoOl = x—>49 Alx =7 x = (-1) x+1 x—2 4
] ] 3—x ) x—1 ’ ’
7= lim |x-1| §=1lim T—— 9= lim t
x> (-3) X3 3+x| x> - |x +3x—4| h
10= i 2 le fm X 18x-8 Math@MUT @
A0=lim 7—7-—— 1= lim a
L x— 0+ |X| X x—>(2/5) |5x—2| i M
U
L LT ]
_ M x#0 |
f(x)=9 «x ,g(x)=3x+4
1 x=0
No02=|{{.3.1=lim f(x)+g(x) .32=lim f(x)—-g(x) .3.3= lim f(x)g(x)
x—0- x— 0+ X — 0+
. f(x) . f(x)
3.4 = lim 3.5 =lim Math@MUT
L x — 0- g(X) x—0 g(X) |
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x—5- x— 5+ x—5
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x—(-2.7)

x—(-2.7)- x—(-2.7)+
):0:0:9:0:0:9:0:9:9:9:9:0:9:9:0:9:9:9:9:9:0:9:9:0:0:0:0.0:0:9:9:9:0:0:9:0.9.9:0.0:0:9.9.0:9:9.9.:0:9.9:0:0:0:9:0:9:0:0.9:9.0.9:0:9.9:9:0.0.0:0.0:0:0.9:0.0.9:0.0.0:9:0.0.:0:9.0.:9:0.0:0:0.9:0:0.0.:0:0.0:¢

X [Page = 0028]




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKXKKKXME6/1-6400504-00029XX

Limit03 for No.646105
P
_ _ V
_ ) ' R R . 2xX —4x+4 S
d=1lm 5x"+x+1 2=Ilm 3x+3)(x"+3x-1) 3=lm ————————
x—3 x—3 x—>4 S5x-1 __S__
4-x 5—4x+4 &
4= lim S=1lm ———— 6=1im 4/ -3 +x InYal
x4 2—4/x rar x—21 x> 1
NoOl = ) \ s a
. . l-x . |x —2x—3| /
7= lim |x—2| S=lm 77— Y9=1lm ————
x> (-2) x>l | X~ X3+ -3+x h
_ 4 _ 12x°+13x—4 @
A0=lm —-77 Al=lim Math@MUT M
L x—>0- X |x| x> (1/4) |4X—1| i
U
L LLT1]
_ 2|x| . N
fx)=3x-4,g(x)={ x 7
2 x=0
No02=|{{.3.1= lim f(x)+g(x) .3.2=1lim f(x)-g(x) .3.3= lim f(x)g(x)
x— 0+ x—0- x— 0+
. f(x) :
3.4 = lim 3.5 =1im f(x)+g(x) Math@MUT
L x—0- g(X) x—0 i
f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = X —>4- X —> 4+ x—4
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x> (-5.4)

x—(-54)- x—(-54)+
):9:9:0:9:9.0:9:9.9:9.9:9.0.9.9.9:9.9.9.0:0.9.0.9.9.9:0.0.9.0.9.9.9:0.9.9.0.0.9.9:9.0.9.0:0.9.0:9.9.9.:0.0.9.0.9.9.9:0.9.9.0.9.9.0.:9.9.9:0.0.9.0.:9.0.9:0.0.9.0.9.9.0:0.0.9.0.9.9.0:0.0.9.0.0.9.0.9.0.0.4

X [Page = 0029]




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK KKKXKKKXME6/1-6400504-00030XX

Limit03 for No.646106

C AT

- ~ V
. 2 . 3 2 . x—4 S

J=1lm x"—x-3 2=1lm 2x+2x+1)(x+1) 3=Ilm —

x—3 x—>3 x>3 S5x —4x+3 LL S ]
100 - x 1—ofx+4 &
4= lim —— S=1lm ————— O6=1im 4/ 1-x M
NoOJ = x—>100 10 —4/x x> (3)  —3-X x—3 p
] ] x—1| ] x—1 ’ ’
7= lim |x+3| .8=lim 9=Ilim 7> 4
x> (2) vl 1—x x> 1- |x —3x+2| h
2 2 , |2x-1] @
A0=1m ——-77 Al= lim — Math@MUT
L x—0- X |x| x> (1/2) 2x —Tx+3 | M
U
L LL7TJ]
_ 5|x| 0 C
fx)=x-2,g(x)= X v
5 x=0
No02=|1.31= lim f(x)+g(x) .3.2=1lim f(x)—g(x) .3.3=1lim f(x)g(x)
x— 0+ x—0- x—0-
. f(x) .
3.4 = lim 3.5=1im g(x)-1f(x) Math@MUT
L x— 0+ g(x) X0 |

f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)

No03 = x—2- x— 2+ x—2
4= lim f(x) 5= lim f(x) .6= lim f(x)
x—(-3.7)- x—(-3.7)+ x—(-3.7)

X [Page = 0030] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXKKKKKXKXKKKKKKKK KKK XXX KKK KKK KKK KKK KKK KKK KKK KK KKKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK KKK KKK KKK K KKK KKK KKK XKL KKK KKK KKK KKKKKKKXME6/1-6400504-00031XX

Limit03 for No.646107

P
~ ~ 14
. 3 . 3 2 . x—4 S
J=1lm 5x-3x+2 2=1Ilm (4x -2x +4x)(3x+2) 3=Ilm —
x—3 x—>3 x4 SX -2x+4 LLS 1
x — 64 x-8 &
A4=1lm ——= S=1lm —— 6=1m -3 +x T a1
x> 64 8—«/; x>8 Jx—4 -2 x> 1
No0l = ) , s a
| 344 NE)
7=1lim |x—1| 8=1lim — 9= lim 4
x—1 x—3 3-x X —3- 3 +x h
.4 4 _ 13x-2| @
A0=lm 7—7-— A= lim 5 Math@MUT
L X —>0- |x| X x>2/3) 15x =22x+8 ] M
U
L L7
_ 2|x| 0 -
fx)=x+5gx)={1 » 7
2 x=0
No02=|{1.3.1=lim f(x)+g(x) .3.2=lim f(x)-g(x) .33= lim f(x)g(x)
x—0- x— 0- x — 0+
. fx) :
3.4 = lim 3.5=1im g(x)—1f(x) Math@MUT
L x— 0+ g(x) X0 |

f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)

No03 = x—5- x— 5+ x—5
4= lim fx) 5= lim f(x) .6= lim f(x)
x—(-1.9)- x—(-1.9)+ x—(-1.9)

X [Page = 0031] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKKXKKXXXXKKKKKKKK XXX XXX KKK KKK KKK K LKL KKK KKK KKK KKKKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKKKKKME6/1-6400504-00032XX

Limit03 for No.646108

P
~ _ V
3 2
) 2 ) 2 X -2x +3x S
d=1lm 2x"-3x 2=1lm 2x +x-1)(2x+3) 3=lm —(—/————
x—1 x—1 x—1 3x+2 LLS 1l
o Afx-s ' 13— x _ &
4= lim o S=1lm 77— 6=1m 4/x—2 M
X -X X - — X
NoOl = 64 >13 fx—4-3 >3 ’ , 4
| e | x=5
7= lim |x+2| 8=lim —— 9= lim t
x—(-1) o1 x—1 x5+ |x —6x+5| h
B | , 3x°+2x—8 @
A0=lim ——77 Al= lim —F——— 71— Math@MUT M
L x—>0- X |x| x—(4/3) |3X—4| i
U
L LT ]
_ 4x ) _
f)=3x+1gx)=1]x] *7
4 x=0
No02=|{{.3.1= lim f(x)+g(x) .3.2=1lim f(x)-g(x) .3.3= lim f(x)g(x)
x— 0+ x—0- x— 0+
. f(x) . f(x)
3.4 = lim 3.5 =lim Math@MUT
L x—0- g(X) x—>0 g(X) |

f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)

No03 = x—1- x— 1+ x—1
4= lim f(x) 5= lim f(x) .6= lim f(x)
x—(-5.7)- x—(-5.7)+ x—(-5.7)

DG BT ISR IVC YA 1D19:9:0:0:0:0.0:0.0.0.0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.0.0.0.9.0.0.0.0.0.0.0.0.0.9.0.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.0.0:0:0:0:0:9.0.9.0.0.9:0:9:0:9:9:9:9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK KKKKKKKXME6/1-6400504-00033XX

X [Page =

Limit03 for No.646109
C AT
- _ V
=3 S
d=1lim 5 -x¥-3x+2 2=1lim (x*’-2x)(3x*+2x) 3= lim
x—3 x—3 x—>3 X~ LLS 1]
/ &
8—4/x 3—4/x+1 &
4= lim [ S=lm ——— O6=1im 4/3—x M
No0Ol = x— 64 x— 64 x—>8 8 —x Y>3 .
] ) |x—2| ) x—35 ’
7=lim |x+1] .8 = lim 9= lim 7 !
x—2 x—2 2-x x— 5+ |x —3x—10| h
, 2 , |5x—4| @
A0=1lim ——77 Al= lim 5 Math@MUT
L x>0+ X |x| x4/5 20x"—11x-4 ] M
U
LL T
_ m x#0 _
f(x)=9 x ,g(x)=x—-4
1 x=0
No02=|{1.3.1=lim f(x)+g(x) .3.2=lim f(x)-g(x) .3.3=1lim f(x)g(x)
x—0- x— 0+ x—0-
. f(x) .
3.4 = lim 3.5=1im g(x)-1f(x) Math@MUT
L x— 0+ g(x x—0 |
f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = X —>4- X —> 4+ x—4
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x—(-5.3)- x—(-53)+ x—(-53)
IKEID0.0:0.0.0:0.00:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKXKKKME6/1-6400504-00034XX

I

1

Limit03 for No.646110
P
_ - Vv
. 3 5 ) 5 i 3x—x+2 S
d=1lm 3x -3x"+x-4 2=1lm (2x+4)(5x -2) d=lim ———
x—>1 x—>1 x—4 x—=2 ——S——
de 1 §—/x P 7-x i 3 &
4= lim S=lim 77— .6 = lim -X M
NoO] = x>64 X — 64 xo7 A34+x -2 x—3 , ’ a
| |x-2] | x-2
7= lim |x-2| 8= lim 9= lim 4
x—(-2) ro2 2-X w»%|x +2x—8| h
5 5 _ 13 x—4] @
A0=lim —+77 A= lim 5 Math@MUT
i o X |x| ) 3X 133+ 12 | M
U
I N A N .
_ N 0 -
f)=1]x] 77 ex)=x+4
1 x=0
No02=|{{.3.1=lim f(x)+g(x) .32=lim f(x)-g(x) .3.3= lim f(x)g(x)
x—0- x— 0+ X — 0+
. f(x) :
3.4 = lim 3.5=1im f(x)+g(x) Math@MUT
L x — 0- g(X) x—0 i
f(x) = floor(x)
A= lim f(x) 2= lim f(x) 3 =1lim f(x)
No03 = X —>4- X —> 4+ x—4
4= lim fl{x) S= Ilm f(x) .6= lim f(x)

x > (-4.4)- x > (44 )+ x> (-44)
D010:0:010.0.0.0.0.0.0.0.0.0.0.0.0:0.0:0:0:0.0:0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0. 000 0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0

X [Page = 0034]




X [Page = 0035]

x—(-5.7)-

x—(-5.7)+
):0:0:0:9:9.9:9:0.9:0:0:0.9:9.0.0:0:0:9:0.0.9:0:0.0.9.0.9:0:0.0.9:9.0.9:0.:0.9.0.9.9:0:0.0.9.0.0.9:0.0.9.9.0.9:0:0.9.0.0.0:0:0.0:9.0.0.:0:0.0.9:9.0.0:9.:0.0.0.9.0:0:0.0:9:0.0.0:0.0.9:9.0.0.0:0.0.0.:0.04

Limit03 for No.646111
I ) ) ) ) ) 5523 +3x)
d=1lm 3x"-3x-1 2=Ilm (x"+x+3)(x+3) .3=Ilim
xX—>2 x—1 x—>4 3x-1 -
) 4 —x ) x—-5-3 ] __
4= lim S = lim O=1lim 4/x—-2
NoOJ = x4 2—4lx o1 x—14 x—>2
. . 3—x i x—4 ’ ’
7= lim |x+2| .8=lim 9=lim ——
x—(-3) xo3 |73 +x| x - 4- |x —16|
| 2 . [6x—1]
A0=1lm ——=77 .Il= lim 5 Math@MUT
L x>0+ X |x| x> (1/6) 6x —13x+2 i
_ 4|x| . _
fx)=3+x,gx)={ « 7
4 x=0
No02=|1.31= lim f(x)+g(x) .3.2=1lim f(x)—-g(x) .3.3=1lim f(x)g(x)
x— 0+ x—0- x—0-
. f(x) :
3.4 = lim 3.5=1im f(x)-g(x) Math@MUT
L x— 0+ g(X) x—>0 |
f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = X —>4- X —> 4+ x—4
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x—(-5.7)

NQSX@S~3 X<

):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXKX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKKKKKME6/1-6400504-00035XX




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKXKKKME6/1-6400504-00036XX
Limit03 for No.646112

1
I

P
_ _ V
. 2 . 2 ) . 5x+4x -3x S
d=1lm 5x"-3 2=1lm (5x-2x-4)(3x"—x—-3) .3=1Ilm
x—3 x—3 x—>4 5x-3 LS ]
 8l-x o 5_afx+1 ' &
4= lim S=1lm —— 6=1m 4/ x—-2 M
xo>81 9—4/x xo24  24-x xo2
No0l = 5 R a
] ] 1—x ) |x +2x—15| p
.7=lim |x+2| S=lm 77— 9= lim
x—3 x—1 |X—1| x — 3+ -3 +x h
33 , |3x-1] @
A0=1m —+77 A= lim 5 Math@MUT M
IR Y o 158~ 17x+4 |
U
L LL7T1)
_ 4 0 .
T #
flx)=2x-1Lgx)=1|x] 7~
4 x=0
No02=|{1.3.1=lim f(x)+g(x) .3.2=lim f(x)-g(x) .3.3=1lim f(x)g(x)
x—0- x— 0+ x—0-
. f(x) :
3.4 = lim 3.5=1im g(x)-1f(x) Math@MUT
L x— 0+ g(x) X0 |
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x— 3- x— 3+ x—3
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x—(-5.2)- x—(-52)+ x—(-52)
IIEIJ D 00:0:0:0:0:0:0:0:0:0:0:0.0:0.0.0.0.0:0.0:0.0.0.0.0.0.0:0.0.0.0.0.0:0:0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0:0.0.:0.0.0.0.0.0.0:0.0.0.0.0.0:0.0.0.0.0.0.0.0:0.0.0.0.0.0:0:0.0:0.0.04

X [Page =



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK KKKKKKKXME6/1-6400504-00037XX

Limit03 for No.646113

C AT
i - V
. 3 2 . 3 o 2xX+4x-3x S
A=1m 4x +4x" +3x+1 2=1lm (2x -2x—-4)(x+4) .3=Ilm
x—=3 x—>1 x—=3 -3 +x LLS ]
o9-u/x C3oafx+1 _ &
4= 1lim S=lm ————— 6=1m 43 —x M
No0l = s>t X =8l x—>38 x—8 x—>3 a
. . 3-x . |x2_4| ’ ¢
7= lim |x—1| .8 =lim Y9=Ilim ——
x> (-1) x—3 —3+x| o2t X—2 h
4 4 . [2x-5] @
A0=1m ——-77 A= lim 5 Math@MUT
L x>0+ X |x| x(5/2) 2x —9x+10 i M
U
L LL7T1]
_ . 0 -
T X #
fx)=1|x| ,g(x)=x-2
1 x=0
No02=|{1.3.1= lim f(x)+g(x) .3.2= lim f(x)-g(x) .3.3=lim f(x)g(x)
x— 0+ x— 0+ x —0-
. f(x) . f(x)
3.4 = lim 3.5 =lim Math@MUT
L x—0- g(X) x>0 g(X) |
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x—2- x— 2+ x—2
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x> (-3.8)- x> (3.8)+ x> (-3.8)
AENATD 00:0:0:0:0:0:0:0:0:0:0.0.0:0.0.0.0.0:0.0:0.0.0.0.0:0.0:0.0.0.0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.:0.0.0.0.0.0.0:0.0.0.0.0.0:0:0.0.0.0.0:0.0:0.0.0.0.0.0.0:0.0:0.0.04

X [Page =



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKXKKKXME6/1-6400504-00038XX

Limit03 for No.646114
C AT
- _ V
) 5 ] 5 ] 44 S
Ad=1lm 5x"+x—-4 2=Ilm (5x +x—-1)(x—1) 3= 1lim
x—>3 x—2 ro2 x—4 LLS 1
4o lim X 5= 1 X 6=1im 3 N
4= lim S=1lm —F—— .6 =1lim —X
x—100 10 —4/x x> (1) 2—=4x+5 x—3 M
No0l = ) k , a
_ o |x—1 P =T7x+ 12
7= lim |x—2| .8=lim 9= lim !
x—=(-1) x—1 x—1 x—3- 3 +x h
1 . [5x-1] @
A0=lim 77— A= lim 5 Math@MUT
L X 0- |x| x xo1/5) 20x +11x-3 i M
U
L LLT )
_ 4|x| 0 Z
fx)=1 x 7" gx)=4x+5
4 x=0
No02=|1.31= lim f(x)+g(x) .3.2=1lim f(x)—g(x) .3.3=1lim f(x)g(x)
x— 0+ x—0- x—0-
. f(x) . f(x)
3.4= lim 3.5 =lim Math@MUT
Ll x— 0+ g(X) x—>0 g(x |
f(x) = ceil(x)
A= lim f(x) 2= lim f(x) 3 =1lim f(x)
No03 = x— 3- x— 3+ x—3
4= lim fl{x) S= Ilm f(x) .6= lim f(x)
x> (-33)

x—(-3.3)- x—(-3.3)+
):0:9:9:9:9:9:9:9:9.9:9.9:9.9:9.9:9.9:9.9:9.9:9.0:9.9:0:0:0.0:9:9:9:9:9:9.9:9.9:0.9:0.0:0.0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:0.0:9:0:9:0:9:0.9:0.9:0.9:9.0:0.0:9.0:9.0:9.0:9.0:9.0.:0.0:0.0:0.9:9:9:0:0.0:0.¢

X [Page = 0038]




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKXKKKME6/1-6400504-00039XX

Limit03 for No.646115
SR
_ 14
i 3 . 5 . 2x+4 S
d=1lm 5x+3x+2 2=1lm (xX"+2x+2)(3x+4) 3= lim
x—3 x—2 x—2 Sx-2 ——S——
x—-9 2—/x+1 &
4 =1lim S=lm —/— 6=1lim 4/-3 +x M
NoO] = x>9 3—4/x X3 —-X X3 p
. . 3—x . x—1 ’ ’
7= lim |x—1| 8= lim 9= lim 4
x—3 x-3 —3+x| x> 1- |x +3x—4| h
_ 5 . |5x-2] @
A0= lim —+77 Al=lim 5 Math@MUT
IR P c2/5) 152 -31x+10 | M
U
L7

- il
fx)=1 x 7 ex)=4x-2
4 x=0
No02=|{1.3.1= lim f(x)+g(x) .3.2=1lim f(x)-g(x) .3.3= lim f(x)g(x)
x — 0+ x—0- x— 0+
fi
4= lim ) 3.5 fim 22 Math@MUT
L r—0- g(x x>0 T(x) i
f(x) = floor(x)
A= 1lim f(x 2= 1lim f(x J=1im f(x
No03 = x— 3- ( ) x— 3+ ( ) x—3 ( )
4= lim fl{x) S= Ilm f(x) .6= lim f(x)
x> (-4.4)

x > (-4.4)- x > (44 )+
D010:0:010.0.0.0.0.0.0.0.0.0.0.0.0:0.0:0:0:0.0:0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0. 000 0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0

X [Page = 0039]




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK KKK LXK K XKK KKK KKK KKK KKKXKKKXME6/1-6400504-00040XX

1
I

):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

Limit03 for No.646116
[P
~ _ V
) 3 ) ) ) ) 3x+x+4 S
d=1lm 3x +4x"+4x—-1 2=1lm (3x -x+2)(x—-2) .3=Ilim 5

xo2 x52 x4 2x —2x+3 LS ]
 x-9 _ 14— x _ &

4= 1lim S=1lm —F—— .6=1m 43 —x M

NoOJ = x>9 3—4/x xo>14 4—4/x+2 xo 1 p

. o x=2 . x—1 ’ ’

7= lim |x+1| 8=1lim 77— 9= lim 7 4

x> (-1) x—>2 X—2| erWx +x—2| h
0= lim ~—— 1= i [3x-1] Math@MUT @

0= lim ——77 1= lim a
L x—0+ X |X| xaum)3f+ilx—4 i M
U
L LL7T1]
_ 2|x| 0 _
fx)=5x-2,gx)=4 » 7
2 x=0
No02=|{1.3.1=lim f(x)+g(x) .3.2=lim f(x)-g(x) .3.3=1lim f(x)g(x)
x—0- x— 0+ x—0-
f(x X
342 tim ) 35— lim 22 Math@MUT
i r o+ 8(xX) xo f(x) i
f(x) = ceil(x)
A= lim f(x) 2= lim f(x) 3 =1lim f(x)
x — 5+ x—5
lim f(x)

N003 = X — 5-

4= lim f(x) 5= Ilm f(x) .6=

x> (-29) x> (2.9)+ x> (-2.9)
O0/0:0:0:0:0:0:010:010.0:0.0:0.0.0.0.0.0.0:0.0:0:0:0:0.:0.0.0.0'0:0.0:0.0.:0.0.:0.0.:0.0.0.0.0.0.0.0.0.0.0.:0:0.0.0.0.0.0.0:0:0.0:0.0.0.00.0.0.0.0.0:0.0'0.0:0:0.0:0.0.0.0.0.0.0.0:0:0.0:0'0:0.0:0. 0.0

X [Page = 0040]




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKME6/1-6400504-00041XX
Limit03 for No.646117

C AT
B ~ 14
. 3 2 . 2 . x—4 S
d=1lm 3x -x"—-x—-1 2=1lm (x+1)(2x" -2x-1) .3=Ilm
x—2 x—1 x3 S5x —-2x+3 LL.S 1]
4— tim =% 5o lim ——=2 6= lim /2 e
A4=1lm —F— S=lm —F— .6 = lim -X M
x> 64 8—«/; xo(2) 1=4x+3 x—3
NoOl = ) 9 a
] ) x=2 ) -3 +x
.7=lim |x+3| S=1lm 77—/ 9= lim — t
X2 x—2 | X~ | x> 3+ |x +2x—15| h
.5 5 . |3x—2| @
A0=1m ——-77 A= lim 5 Math@MUT
i x0- X |x| x>2/3) 3x +10x-8 ] M
U
L L7414
_ 3. . -
T #
flx)=x+2,gx)=1[x] *
3 x=0
No02=|{{.3.1= lim f(x)+g(x) .3.2=1lim f(x)-g(x) .3.3= lim f(x)g(x)
x— 0+ x—0- x— 0+
. f(x) :
3.4 = lim 3.5=1im f(x)g(x) Math@MUT
L x—0- g(X) x—0 i

f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)

No03 = x—2- x— 2+ x—2
4= lim fx) 5= lim f(x) .6= lim f(x)
x> (2.8)- x> (2.8)+ x> (2.8)

X [Page = 0041] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKKKKKXXXXXXKKKKKKK KKK XXX KKK KKK XKL KKK KL KL KKK KKK KKKKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKME6/1-6400504-00042XX

Limit03 for No.646118
TP
~ _ Vv
_ 5 . 5 ) L 4xX —4x+2 S
d=1lm 5x"-3x+2 2=Ilm (3x+2x-4)(3x"+3x-4) 3=lm ——————
x—3 x—3 x—2 5x+3 LLS 1]
4= tim 2 5= i S 6= lim 4/3 RR
4=1lm —F/——— S=lim —F— .6 =lim —X
xo16 A/ x —4 x(4) 1—4/x+5 x> 1 M
NOO]: 2 ’ ) a
| -3 +x| |21
7= lim |x+1| 8= lim 9=1lim —— 4
x> (-2) 3 —3+x vl x—1 h
, 2 _ 3x7—Tx+2 @
A0=lm —-77 A= lim Math@MUT M
i x>0+ X |x| x> (1/3) |3X—1| |
U
L LL T
_ 3|x| 0 _
fx)=4x-3,gx)=4 x 7
3 x=0
No02=|1.31= lim f(x)+g(x) .3.2=1lim f(x)—g(x) .3.3=1lim f(x)g(x)
x— 0+ x—0- x—0-
. f(x) . f(x)
3.4= lim 3.5 =lim Math@MUT
Ll x— 0+ g(X) x>0 gX |
f(x) = floor(x)
A= lim f(x) 2= lim f(x) J3=1im f(x)
No03 = x— 3- x— 3+ x—3
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x> (-43)- x> (43)+ x> (-43)
LV ID 6'0:0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0:0.0.0:0¢

X [Page




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKME6/1-6400504-00043XX

Limit03 for No.646119
C AT
_ i} Vv
x—4
I=1im 5¥+xX+2x-2  2=1lim (¥ -22") (x+1) .3=lim — S
x—>1 x—3 x4 Sx—4x—-4 __S__
10 —+/x 4-x &
4= lim 10-x 5= lim 6=1lm 4/2—x inal
NoO] — x>100 X—100 x4 3—9/x+5 x> 1 4
. o x—1] ¥ =16] T ’ .
7= lim |x+l| 8= lim 9=lm ——
x—(3) N 4 X—4 h
_ 4 . [4x—1] @
A0=lm —+77 A= lim 5 Math@MUT
L x>0 X |x| xo(1/4) 12x° =23 x+5 i M
U
L LL T
_ 4|x| . -
fr)=5x-Lgx)=1 x
4 x=0
No02=|{1.3.1= lim f(x)+g(x) .3.2= lim f(x)-g(x) .3.3=lim f(x)g(x)
x — 0+ x— 0+ x —0-
f(x X
4= lim ) 3.5 fim 2 Math@MUT
i x>0 8(x) x>0 f(x) |
f(x) = floor(x)
A= lim f(x) 2= lim f(x) 3 =1lim f(x)
No03 = x— 3- x— 3+ x—3
4= lim f(x) 5= Ilim f(x) .6= Ilim f(x)
x—(-1.7)- x—(-1.7)+ x—(-1.7)
IIZICHIED'0:00:0/0:0:0:0:0:0:00:0:0:0:0:0/0:0:0:0.0:0.0:0.0:0.0.0:0:0.0'0.0.0.0.0:0.0.:0:0.0.0.0.0.0.0.0.0.0:0.0:0.0.0.0.0.0:0.0:0:0:0:0.0.0.0.0.0.0.0.0.0:0.0'0.0:0.0.0:0.0:0.0.0.0.0.0:0.0'0:0:0:0.0:0. 0.0

X [Page =




X [Page =

1
I

):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKXKKKME6/1-6400504-00044XX

Limit03 for No.646120
P
- _ V
) 5 5 ) ) ) ) 4x+3 S
d=1m 3x +4x+4 2=Ilm (5x+4x+4)(5x-2x) .3=Iim
x—>2 x—3 xo3 4x +x LLS 1.
 49-x  4—yx+3 ' &
4= lim S=1lm ———— 6=1m 42 —x M
NoOJ = x—49 A/x =7 ro13 Xx—13 x—o2 u
) ) x—1 ) x—4 | ’
7= lim |x+2| 8=lim 7— 9= lim 75— 4
x> (-1) x> 1 |X—1| x> 4+ |x —16| h
4 4 , |5x—4] @
A0=1im ——77 A= lim 5 Math@MUT
L x>0+ X |X| x@4/5 15x —17x+4 i M
U
LLT ]
_ 4x O .
fy=1|x] 7 a(x)=4x+2
4 x=0
No02=|1.31= lim f(x)+g(x) .3.2=1lim f(x)—g(x) .3.3=1lim f(x)g(x)
x— 0+ x—0- x—0-
f(x X
342 tim ) 3.5 fim 2 Math@MUT
i v 0r 8(X) v—o f(x) i
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x—1- x— 1+ x—1
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x—(-1.2)- x—(-1.2)+ x—(-12)
LV R ID 90:0:0:0:0:0:0.0.0:0:0:0.0:0.0.0.0.0:0.0:0.0.0.0.0:0.0:0.0.0.0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0:0.0.0.0.0.0:0.0.0.0.0.0:0.0:0.0.0.0.0.0:0:0.0:0.0.04



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400504-00045XX

Limit03 for No.646121

1
I

P
_ . V
) 3 ) . ) . X +4x+3 S
d=1lm 2x -2x"+3x 2=1lm (x+1)2x " -x+1) 3=lm ——
x—>1 x—=2 x—4 5x°+3 ——S——
4o i x—1 P 5-4/x+2 i 5 &
4 = lim S=Ilm —_ _— O=1im 4/x - M
NoO] = xo1 1—«/; 23 X—23 x—3 u
. ) |—3 +x| . x—1 ’ ’
.7 =lim |x—2| S=Ilm ——— Y=Ilm 4
x> 1 x3 OtX x> 1- |x —3x+2| h
2
. 2 ) 3x"+5x-12 @
A0=1m 7—7-— Al=lim Math@MUT M
L x— 0- |x| X x—(4/3) |3X—4| i
U
I N A
_ N O -
T z
fx)=x+2,g0)=1]x]
1 x=0
No02=|{1.3.1= lim f(x)+g(x) .3.2= lim f(x)-g(x) .3.3=lim f(x)g(x)
x — 0+ x — 0+ x—0-
- f(x) :
3.4 = lim 3.5=1im f(x)-g(x) Math@MUT
L x—0- g(X) x—0 i

f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)

No03 = x—5- x— 5+ x—5
4= lim fx) 5= lim f(x) .6= lim f(x)
¥ o> (-49)- x> (-49)F x> (-4.9)

X [Page = 0045] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXKKKXKXXXKKKKKKKK KKK XXX KKK KKK KKK KKK KKK KKK KKK KK KKKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK XKKXKKKME6/1-6400504-00046XX
Limit03 for No.646122

P
~ _ 14
. 3 2 . 2 2 . x+1 S
d=1lm 5x"-4x"+x+4 2=1lm 3x +2x+4)(3x " +x+2) .3=Ilim
x—>2 x— 1 xo3 2x —x+4 LS 1]
4= tim 2 5— tim 6= 1li > T
A4=1lm —— S=1lim 77— — 6=1lim 4/x —
x—49 7—«/; x>10 f/x—1-3 x> 1 M
NOO]: 2 ) 9 a
| x-2] [P -2x-3]
7=1lim |x—1| 8=1lim —— 9=1lim —— 4
x—>2 x—2 2-x X —4- x—4 h
2 2 _ |5x—1] @
A0=lim —+77 A1=lim 5 Math@MUT
L x—>0- X |x| x> (1/5) 5x —=11x+2 | M
U
L LL7T1]
_ 4|x| 0 _
fx)=2x+1,gx)={ x
4 x=0
No02=|{1.3.1= lim f(x)+g(x) .3.2= lim f(x)-g(x) .3.3=lim f(x)g(x)
x— 0+ x— 0+ x—0-
f(x X
4= lim ) 3.5 fim 2 Math@MUT
i x>0- 8(x) v—o f(x) |

f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)

No03 = x—5- x— 5+ x—5
4= lim fx) 5= lim f(x) .6= lim f(x)
x—(-5.5)- x—=(-5.5)+ x—(-5.5)

X [Page = 0046] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKKKKKKKXXXKKKKKK KKK XXX KKK KKK KKK XKLL KKK KKK KKK KK KKKKK



1
I

):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKME6/1-6400504-00047XX

Limit03 for No.646123
P
_ , _ V
i ; ) . 3 ) . X —=3x-3 S
d=1lm x -2x"+2 2=1Ilm (4x+1)(2x -2x"+4) .3=Ilim 2
x—3 x—>1 xo2 4x +4x-1 LLS 1]
x— 100 2 x+5 &
4= lim S=1m ——— 6=1im 4/x-1 M
NoO] = x—100 A/ x — 10 N R x 2 u
. |x—2| ) |x2—2x—8|, ’ P
.7=lim |x—1| .8=lim Y=Ilm —
x—(-2) xo2 X—=2 x - 4- x—4 h
4 4 . 3x-2] @
A0=lim —+77 A1=lim 5 Math@MUT M
L x—0- X |x| x—>(2/3) 15x" —7Tx-2 ]
U
L LL7T1)
_ 4|x| . _
fr)=d4x+2,gx)=1 x
4 x=0
No02=|{{.3.1=lim f(x)+g(x) .32=lim f(x)-g(x) .3.3= lim f(x)g(x)
x—0- x— 0+ X — 0+
. f(x) :
3.4 = lim 3.5=1im f(x)g(x) Math@MUT
L x>0 & X) x—>0 |
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = X —>4- X —> 4+ x—4
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x> (-42)- x> (-42)+ x> (-42)
[Page = 0047] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXXKKXKKXKKXKKXKKXX XXX XXX XXX XXX XXX XXX XXX XXX KKK KKK KKK KKK KKXK

X




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKXKKKXME6/1-6400504-00048XX
Limit03 for No.646124

C el ]
_ _ V
, s , ; . 4x’-3x—4 S
d=1lm 3x +3x"+3x 2=Ilm (5x +4x-3)(x+4) 3=lm —
x—3 x—3 x—>4 4x-3 —S—
o 4-x o s—afxrd , &
4= lim S=Ilm ——— 6=1m 43 —-x M
16 X—16 x—24 24 —x x—3
No0l = ) R , a
) ] |x—2| ] |x—6x+5|
.7 =lim |x—1| .8=lim 9=Ilm —— 4
x—>1 x—>2 - X x—1- x—1 h
) ) 5x"+6x—8 @
A0=lim 77— A= lim Math@MUT M
L x— 0+ |X| X x—(4/5) |5X—4| i
U
L LLT )
_ 4x ) _
fy=d4x+5g00)=1]x] *7
4 x=0
No02=|{1.3.1=lim f(x)+g(x) .3.2=lim f(x)—g(x) .33= lim f(x)g(x)
x—0- x— 0- x — 0+
. f(x) :
3.4 = lim 3.5=1im f(x)g(x) Math@MUT
L x— 0+ g(X) x—0 |
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x— 3- x— 3+ x—3
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x> (-2.6)- x> (-2.6)+ x> (-2.6)
LR ID'0:0:0:0:0:0:0.0.0.0:0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.04



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400504-00049XX

X [Page =

0049]

x> (-5.2)-

x—(-52)+

x> (-5.2)

Limit03 for No.646125
C Tl ]
_ - V
. 3 2 . 2 2 ) 5x+3x+1 S
d=1lm x -4x"+2x-2 2=1lm (4x -2x+3)3x" +2x-4) 3=lm —
x—>1 x—>3 x—3 x+3 = S——
x—4 5—4x+1 &
4= lim [ S=1lm ——————— 6=1lim 4/ -3 +x M
x>16 X— 16 24 X—24 x— 1
No0l = 5 , a
] ] |—3 +x| ] |x —1|
7= lim |—3+x| S=lm —(/—— 9=Im —— !
x—(-2) x—3 - X o1 x—1 h
5 5 , 3x°—11x+10 @
A0=1m ——-77 A= lim Math@MUT M
L x—>0- X |X| x—(5/3) |3X—5| i
U
LLT ]
_ 4|x| . _
fo)=1 x 7 e(x)=x-2
4 x=0
No02=|1.31= lim f(x)+g(x) .3.2=1lim f(x)—-g(x) .3.3=1lim f(x)g(x)
x— 0+ x—0- x—0-
. f(x) . f(x)
3.4= lim 3.5 =lim Math@MUT
Ll x— 0+ g(X) x—>0 g(X) |
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = X —>4- X —> 4+ x—4
4= lim f(x) S5= Ilm f(x) .6= lim f(x)

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0.:0.0:0:¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400504-00050XX

Limit03 for No.646126
C AT
_ _ vV
, , , \ . 2x-3x-3 S
Ad=1lm 2x"+1 2=lm (5x —-x)(x—-2) J3=lm ——(——
x—3 x—>1 x—1 -3 +x LLS 1l
4—afx x—23 &
4= lim 16[ S=1lm —F—— .6=1m 42 —x M
NoOl = x> 16 X x—>23 S5—a/x+2 X2 , p
] ] 3—x ) x—4
7= lim |x+3| .8 = lim 9= lim t
x—(-2) xo>3 |3 +x| x> 4- |x —6x+8| h
10= i 1= lm 3X=TE2 Math@MUT @
A0=1lm 77-— .I/= Ilim a
L x—0- |x| X x—(2/3) |3X—2| M
U
LL T
_ 3|x| 0 _
fx)=1 Y70 o(x)=2x+3
3 x=0
No02=|1.31= lim f(x)+g(x) .3.2=1lim f(x)—-g(x) .3.3=1lim f(x)g(x)
x— 0+ x—0- x—0-
. f(x) .
3.4 = lim 3.5=1im f(x)g(x) Math@MUT
L x— 0+ g(x) X0 |
f(x) = floor(x)
A= lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x—5- x— 5+ x—5
f(x) .6= lim f(x)

4= lim f(x) 5= Iim
x—(-32)- x> (32)+ x> (-32)

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0.:0.0:0:¢

X [Page = 0050]




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400504-00051XX

X [Page 0051]

x—(-5.1)-
):0:0:9:0:0:9:0:9:9:9:9:0:9:9:0:9:9:9:9:9:0:9:9:0:0:0:0.0:0:9:9:9:0:0:9:0.9.9:0.0:0:9.9.0:9:9.9.:0:9.9:0:0:0:9:0:9:0:0.9:9.0.9:0:9.9:9:0.0.0:0.0:0:0.9:0.0.9:0.0.0:9:0.0.:0:9.0.:9:0.0:0:0.9:0:0.0.:0:0.0:¢

x—(-5.1)+

Limit03 for No.646127
C AT
_ _ 14
. 2 . 3 2 . 2x3—4x2+2x S
d=1m 4x°+2 2=1lm (3x -x" +4)(2x+2) .3=1Ilim
x—>1 x—3 x—>1 S5x-2 ——S——
o 8-4/x o fx-2-5 , &
4= lim S=1lm —— 6=1m 42 —x M
NoO] = x— 064 4-x x—27 27 —x x—>3 a
, . 3+4x o ¥ =9x+20] [ ’ .
7= lim |x+2| 8= lim 9= lim
x—(-1) x—3 —3+X| x—4- x—4 h
10= i 1= 1 EESE] Math@MUT @
A0=lim 77— A= lim a
L x—0- |x| X v (5/3) 3x =17 x+20 i M
U
L LLT.
_ 2x O -
fy=1x] 7 ex)=5x+2
2 x=0
No02=|{1.3.1=lim f(x)+g(x) .3.2=lim f(x)—g(x) .33= lim f(x)g(x)
x—0- x— 0- x — 0+
. fx) :
3.4 = lim 3.5=1im f(x)+g(x) Math@MUT
L x— 0+ g(x x—>0 |
f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = x—3- x =3+ x—3
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x—(-5.1)



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400504-00052XX

Limit03 for No.646128
P
~ _ V
. 2 . 2 2 . —3+x S
d=1lm 2x"+x-4 2=Ilm (5x+2x—-1)(3x" -2x+2) .3=1Ilm 2
x—1 x—1 yo4 4x —4x+4 LS 1]
S fim X 5= 1i X2 6=1lim 41 S
4= lm —— S=lm ——F— .6=lim - X
x—>100 10 —4/x xo(2) 1—4x+3 x—2 M
No0l = 2 , , a
. . - ) |x —4x+3|
7= lim |x—2| S=1lim T Y9=1lm ————— t
x> (-1) X2 X—2| x> 3- -3 +x h
] ) 5x°—14x+8 @
A0=lim —7-— A1l=lim Math@MUT
L x— 0+ |X| X x—>(4/5) |5X—4| i M
U
L LL 7 1]
_ 2|x| 0 _
f(x)=1 x YU g(x)=dx+1
2 x=0
No02=|{1.3.1=lim f(x)+g(x) .3.2=lim f(x)—-g(x) .3.3=1lim f(x)g(x)
x—0- x— 0+ x—0-
. f(x) .
3.4 = lim 3.5 =1im f(x) g(x) Math@MUT
L x— 0+ g(x x—0 ||
f(x) = floor(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)
No03 = X —>4- X —> 4+ x—4
4= lim f(x) S5= Ilm f(x) .6= lim f(x)
x> (-4.2)- x> (42)+ x> (-4.2)
BECEIIO LRV D 0.0.0.0:0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0:0.0.0.0.0¢

X




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400504-00053XX

Limit03 for No.646129

1
I

P
_ ) V
. 2 . 3 2 . x—4 S

d=1lm 3x"+3x—-1 2=1lm (4x +x -3x)(2x+3) 3= 1lim

x—2 x—2 x—2 5x-4 LS 1]
_100-x _ x-4 , &

A4=lm ——— S=lm —F— 6=1m 4/x-2 M

x—>100 10 —4/x x—>4 3—4/x+5 x> 1
NOOIZ 5 ) a

i ) -3 +x ) -3 +x
.7=lim |x+3| S=lm 7/ 9= lim t
x—2 x—3 —3+X| x— 3+ |X —7x+12| h
3 3 _ [3x-5] @
A0=lim ——77 A= lim 5 Math@MUT
L x>0+ X |x| x—>(5/3) 15x"—=31x+10 ) M
U
I N A
_ 3|x| ) -
fx)=5x+2,g(x)=1 x
3 x=0
No02=|{{.3.1=lim f(x)+g(x) .32=lim f(x)—-g(x) .3.3= lim f(x)g(x)
x—0- x— 0+ X — 0+
) f(x) o f(x)
3.4 = lim 3.5 =lim Math@MUT
L x—0- g(X) x>0 g(X) |

f(x) = ceil(x)
A= 1lim f(x) 2= 1lim f(x) J3=1im f(x)

No03 = x—5- x— 5+ x—5
4= lim fx) 5= lim f(x) .6= lim f(x)
x> (42)- x> (42)F x> (-42)

DG REET ISHERNIISICH 1D 19:9:0:0:0:0.0:0.0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0.0.0.9.0.0.0.0.0.0.0.0.0.9.0.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.0.0:0:0:9:9:9.9.9.0.0.0:0:9:9:9:9:9:9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK XXX KKK K KKK KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400504-00054XX

X [Page =

Limit03 for No.646130
C AT
_ V
- 2 - 3,2 : 3x-4 S
d=1lm 4x" -2x—-1 2=1lm (5x+x -3x)(2x-3) .3=1lim 5
X2 X3 x>1 5x°+2x-1 LLS 1
4= tim =2 5= fim 222 6=1lim 41 SO
4= lim S=1lm —/— .6 = lim - X M
X -8 X 14 — x ¥
NoOl = — 64 ﬂ/; — 14 —)22 , a
_ . 3-x o P =7x 412
7= lim |x—2| 8= lim 9= lim !
x—(-1) x—3 |—3+X| x4+ x—4 h
10= tim >-2 1=l X228 Math@MUT @
A0=1m ——=77 A= lim a
L x—0- X |x| x> (4/5) |5x—4| i M
U
LL T
_ N O -
T #
) =1[x] 7 e(x)="3+x
1 x=0
No02=|{1.31= lim f(x)+g(x) .3.2=1lim f(x)—g(x) .3.3=1lim f(x)g(x)
x— 0+ x—0- x—0-
f(x X
342 tim ) 3.5 fim 2 Math@MUT
i v 0r 8(X) v—o f(x) |
f(x) = ceil(x)
A= lim f(x) 2= lim f(x) 3 =1lim f(x)
No03 = X —>4- X —> 4+ x—4
4= lim fl{x) S= Ilm f(x) .6= lim f(x)
x—(-5.1)- x—(-5.1)+ x—(-5.1)
AN RID'0'00:0/0:0:0:0:0:0:010:010:0:0:00:0.0:0.0:0.0:0.0:0.0.0:0:0.0:0.0.0.0.0:0.0:0.0.0.0:0.0.0.0.0.0.0.0.0:0.0.0.0.0.0:0.0:0:0.0:0.0.0.0.:0.0.0.0.0.0:0:0'0.0:0.0.0:0.0.0.0.0.0.0.0:0.0'0:0:0:0.0:0. 0.0



| XXXXKXKXKKKKKKKXKXKXKXKXKXKXKXKXXXXXXXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX XXX XXX XXX KKK KKK KKK KK KKK KKK KKK KKK KKK KKK KKK KKK KKKKKK
L >



